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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting

qQuestions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and

in ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be

attempted choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the
authorized one. :

Assume suitable data, if considered necessary and indicate the same clearly.

Unless otherwise mentioned, symbols and notations carry their usual standard meanings.
Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a

question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer Booklet must be clearly struck off.
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Ql. (a)

(b)
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SECTION A

R 1(a) § 2ué T FN (Few) A T sga Tl Irafy deh o= TN T 8
it 20 @ t = 0 W @ oz o B, @

G)  t<0% i & AW F1d HT |
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(i) t>o%%q1L(t)%§mﬁuﬁaﬁmaﬁtiL(m)wmmaﬁm|
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100V — — g
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7 1(a)

The switch shown in Figure 1(a) has been closed for a very long time and
it is opened at time t = 0.

(63) Find the value of i for t < 0.

(i) Just after the switch is opened, find the value of i (0%).

(ii) Determine the expression for ij(t) for t > 0 and find the value of
iL(°°). 10

20 Q \&(t=0 liL

a 05H
100V — =i

-+

100V —

+

Figure 1(a)

Ad-999 9T "@hd x(t) =t [u(=t + 1) —u(=t — )] t % 3@ gum &+ o
Y 95T, Ef u(t) T 61 98 B B |

Sketch the continuous-time signal x(t) =t [u(-t + 1) —u(-t - 1)] over a
suitable range of t, where u(t) is a unit step function. 10
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(c) TH 220V, 8-yd arelt A9 Fusfora .4t ured 99 (312) WX § 1200 A<t
(Shedet) & au1 220 Q 87 YWY B | Ig WX T WR q1 A 0 W
50 A A3 910 Al ? | Wil % & iy § aifed g iy w1 e wma
Hife 7R sah 1 40 i s & sefd Foi so-emeet gf v T @
I W& W B | oA it 6 33 (wei) % fore geeesh afmy W@ R
3 yAF AR ATeTeh T Tfele 50 mQ B |

A 220V, 8-pole lap wound dc shunt motor has 1200 conductors and has
a field resistance of 220 Q. The motor takes a line current of 50 A at full
load and rated speed. Find the additional resistance required in the field
circuit if its speed is to be raised by 40 percent while maintaining its
torque output at previous full load value. Assume linear magnetic circuit
for the machine and resistance of each armature conductor as
50 mQ. 10

@ R Ry o 1d) ¥ s eifeiren zifver 3@ ufgy guien w8 1 qF
it f S g afer p=308 | REI T Vo =+ 12V, Ry =15kQ
21
() uREy H TEE FE F AU EwEEs R, G AR 7@ HRY qrin

(ii) wmmleﬁm%mVCEQlwmﬁmml

T Sfifte fF T, 3t T, 1 fafersia g 2 |
IVCC
Ry
T,
Ty
Rg
"7 1(d)
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A Darlington transistor pair circuit is shown in Figure 1(d) below. Both
the transistors have dc current gain B of 30. In the circuit Ve =+12V,
RE = 1'5 kQ.

1) Find the value of R; needed to bias the circuit such that
VCEQ2 = 5 V for transistor To.

(i)  With the same value of R, as obtained above, determine the value

Of VCEQI
Assume both T; and T, are Si transistors. 10
°® VC C
Ry

Figure 1(d)
(e) UH 4x3 Whudf aifes g (PLA) @ fmafafas qfomm weml &

HAE EﬁﬁﬂQ 2

F, =BG +AB

F,=ABC +ABCD

F3= ABCD+ABCD
Implement the following Boolean functions with a 4 x 3 Programmable
Logic Array (PLA) : 10

F,=BC +AB
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Q2. (a)
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(1)

(ii)

o 2(a)() A i T fgaem () ufwy & h-se@ w@ HINT |
Ife fram o dicear @iq & @i Avfishr & 200 Q H1 IRAY /A, @ TREY

! et sftemean (z,,,) F1 9@ 3@ Hife
10 kQ
o ¢ AN/ o
+ 3
\'4 1kQ &1{)5 Vs %> 100 V Vs
° ¢ 3
=7 2(a)(i)

Find the h-parameters of the two-port circuit shown in
Figure 2(a)(i). If the input contains a source voltage with series
resistance of 200 Q, find the output impedance (Z,) of the circuit. 10

10 kQ

o . VAN o]
+ +
2 1kQ <$10—5 VA ﬁg 100 V, vy
p-- , °

Figure 2(a)(i)

o 2(a)i)A) ¥ veRRia omedt Heft (=) S &t £ = 10 kHz i fe==
AT T =T 3N s foram Sran @ | afty waa 3 orHad @ it fufa
$1 g (FR) | for @ # e 8, Sah oo @ 1=
YT i 1 T AR R 2(a)(1)(B) % ITER B | Foit (f=) =1 =
T (HAA-TEH) T,, 1 A 1 I H RGR G I, H 7 {6

HT |

N
<




In Figure 2(a)(ii)(A), the ideal switch S is switched on and off with
a switching frequency f = 10 kHz. The circuit is operated in
steady state at the boundary of continuous and discontinuous
conduction, so that the inductor current i is as shown in the
Figure 2(a)(ii)(B). Find the values of on-time T of the switch and
peak current of inductor Ip. 10

S~ .
+ il

100V — — 500V
T 100uH —5

1
™~

(A)

Figure 2(a)(ii)

b)) T W TR Ggaemm @ H  eRoReg (emEan)
IABRAT h(t) = [8e73t + 2t e 34 u(t) R |
x(t) = 10673t u(t) Faw & fow @ f RN y(t) 7190 AR, =& ue) &
98 (RY) %o 7 |
The unit-impulse response of a linear time-invariant continuous-time
system is given by h(t) = [3e73t + 2t 3] u(t).
Determine the system response y(t) for an input x(t) = 10e=3t u(t), where

u(t) is a step function. 20

() difhe B F = Syxyz (1, 2, 3, 5, 7, 11, 13) % YW TUhI & ARTHA I
I HA % I uh G aRuy F1 Al (fesms) Hifvm |

Design a combinational circuit to implement the minimal
sum-of-products of the logic function F =2 ygxvyy (1,2, 8,5, 7, 11, 13). 10
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“Shown below (Figure 3(a)) is a differential amplifier with a three
transistor active load. Draw the small signal equivalent circuit of its
output stage with active load and calculate its small signal differential

mode voltage gain.
Assume the output impedances of the transistors Q; to Qg to be
ry; to ro5 respectively.

Assume the base currents to be negligible. ‘ 20

T+ Vee

> * Vo
Ry,
1y v
17 Q ioi= gn}z d ; =
Yy ;
2 _ Q; \lb2
= v
Iq ?d

= Voo
Figure 3(a)

b () T 30b)i) % 9wT & /T o = 1000 rad/sec 7H FHRT 3R 7d@
V,/V, & H femfeg, afd Ly = 1mH, Ly=25mH 3R k=12 |

2Q
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Let ® = 1000 rad/sec for the circuit of Figure 3(b)(i) and determine
the value of the ratio V_/V, if Li=1mH,Ly=25mHandk=1. 10

2Q

Figure 3(b)(i)

() o 3b)i) # 2T T T Aga T (Fead) w1 ww @ v @i
R IR iz, =0-1)Q Z, =1 +jan
Z,=(1+j0)Q & |

+
Vi =30/45°V (~) (2] +v2=304—4°v
Y
7 3(b)(ii)
A () X q91 Y % 3mar 93 dveear oit s ¥ o

a fifv |

An electrical network is fed by two ac sources, as shown in
Figure 3(b)(ii). Given that 2, =(1-j)Q,2,=(1 +j Q and

Z; =(1+j0) Q.
X
E B (Z]
- +
V1=30@°V® [Zy,] @V2=30[—45°V
Y
Figure 3(b)(ii)
Find the values of Thevenin voltage and impedance across
terminals X and Y. 10
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() U orgda (feshie) 3 A x[n] = nluln] —uln — 4]] 7 &R [ i,
W&l uln] Th TS UG (VW) ITHA R |

Find the Z transform of a discrete sequence x[n] = n[uln] — uln - 4]],

where u[n] is a unit step sequence. ) 10

Q4. (a) U WGG-9FI GHA x(t) = cos (2n 400t) F f, = 1600 Hz Sfacefi gt W
wfefia Ren o @ | SRl srgu 1 4-fg DFT Wi <hAIfsig qem aiemr
3R Hen-avih (TFgH) 1 ARG ST |

A continuous-time signal x(t) = cos (2 400t) is sampled with a sampling
frequency f, = 1600 Hz. Obtain the 4-point DFT of the sampled sequence
and plot the magnitude and phase spectrum. 20

b B 40b) § 2wl e seen fam ¥ R DfRE-TET w1 SR S g TH
qeaIs STghia aRas TfrRfeda T |

7 4(b)

URC-U-ELTE 10




Design a synchronous sequential circuit with D-flip-flops for a state

diagram shown in Figure 4(b). 20

Figure 4(b)

() ﬁ%ﬁa«c)ﬁ@mﬁ%wﬁnmw(m)mmw%l
aifed 2 &% o9 (fheer) 6t Q.. afel 5 9 7on 3w sfmmn 10kQ 2 |
| 1 9H C = 100 nF § | R, R, % "W a1 oo (Meeex) $ sias

R £, W Hifg | (W9 +fife 75 OP-AMP medt 2)

,.C =100 nF
s
NAAA"
R
O— AN —>
Vi R1 S Vo
7%74(c)
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A first order low pass filter circuit is shown in Figure 4(c) below. It is
desired that the dc gain of the filter be 5 and the input impedance is
10 kQ. The value of the capacitor C = 100 nF. Find the values of R, Ry
and the cut-off frequency f, of the filter. (Assume ideal OP-AMP) 10

,, C =100 nF
1A}

T

Figure 4(c)
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SECTION B

Q5. (a) ﬁas(a)ﬁmquw-m@.ﬁ#ﬁamﬁmag(m)mm
mwwéaﬁﬁaamﬁaaﬁmmaﬁmmgﬁ#ﬁa
fopan sman @ 1 @ (Fiee) U W Ea AW W AR w@ W@ 2 | S w5
AT Ffelig 0-2 @ R, 3 WX Aeedt FRRH 25 Virad/see) 2 | Bt T
A W ! F=iera et R, Freeht foR sa-smf 140 Nm 2 |

250 V rms
50 Hz Z%? o = Feres
i ]

. =
=7 5(a)

UREd & 60° SESH B0 (R TE) B ) orgeem § g S 9w R
qaq 9 St (o) Tfda 799 g,

() I TR fORTH 6 o hifv |
) WA = rad/secﬁﬁiﬁlﬁl'q |

i) &g () ofeds & fam a7 % 4@ veF #1 FimE=IgS (rms) TH
gfthfera i |
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(b)

URC-U-ELTE

A separately excited dc motor is controlled by varying its armature
voltage using a single-phase fully-controlled converter bridge as shown
in Figure 5(a). The field current is kept constant at rated value. The
motor has an armature resistance of 0-2 Q, and the motor voltage
constant is 2-5 V/(rad/sec). The motor is driving a mechanical load
having a constant torque of 140 Nm.

a

250 V rms

50 Hz Zg ¢ = constant
2 7 [ ]
=

Figure 5(a)

For the firing angle of the converter being 60° and assuming the
armature current to be continuous and ripple free,

@) calculate the motor armature constant.
(i)  evaluate the motor speed in rad/sec.

(iii) calculate the rms value of the fundamental component of the
input current to the bridge converter.

T GHR gfgst @i, 01 m e ot guThR =kl § 1 8 |
STt HTeAn 9Tg ® | @ e o o gt 005 m R | S wigIl
#1450 cos 10% t e Y TH ateear I hi wrh } | Aewaat & gt
T TAT HCh GURE ¥ B Yared g aret e g w1 i
(rms) 9 @ HINT |

o € ez B dieear afiem ¥ wiewlia $o Guie 9/ F Fi-are-ge
(rms) 7 Freemem o/ % UE g R |

ﬂﬂ?ﬁﬁf‘l%gﬁmﬁﬁwﬁm%:g—%xlo—ng% |

A parallel plate capacitor is made of circular discs of radius 0-1 m. The
medium inside is air. The spacing between the two plates is 0-05 m. A
voltage of 50 cos 10 t volts is applied between the two plates. Find the
rms value of the displacement current flowing through the capacitor
using Maxwell’s equations.

Also show that the rms value of the total capacitor current calculated
from voltage equation is same as the displacement current.

Assume permittivity of free space €, = 3_é; x 10~ F/m.

14
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(c)

(d)

URC-U-ELTE

s B (f-we), 4y o (femle &9) R & o 91R
20 gfawa @do (feg) W sifthan se-ermepl fasfia wet @ 1 W =&
Afhaa T A TA-ATY HT U 2-8 B | AR 3T HaeH F T W
dicedt § IREd BT @l @, df IIIUd S-S Wi e % fTe =gam
dieedr 6 TUET IgHA o R Sieear & gfowa & &9 § hvw | 39 Rl §
39 FA-3TYU I TET IgHa advr (fead) W gul wR we-ameel % gfawE %
w9 7 oft Fifrg |

7 i 6 & gu (nfad) et @ wfdy 1-5 @ 9fa S aon et & @&
i gfcaran vy 2 iR grah aitey Wi R |

A three-phase 4-pole squirrel cage type induction motor develops
maximum torque at 20 percent slip. The maximum to rated torque ratio
of the motor is 2:8. If the input voltage fluctuates during its operation,
find the minimum voltage as a percentage of full load voltage allowable
to develop rated torque. Also find the developed torque as a percentage
of full load torque at rated slip under this condition.

Assume standstill rotor resistance of 1-5 Q per phase, negligible stator
side impedance and linear magnetic circuit.

T fg avd dvg g ags atn * U B9 (fe?) @ IR w0 & IfRfrw
uTvd svg Aiglera ot ifad T R

yefita HIfTe o6 30 B (fheer) & =R Bl H(P) #t oid

H(f-£) + H(f + f,) = 2H(f,) Tg F1 Aar ], F& H(E) = # |

A ST foh dew dohd m(t) @ |

Vestigial sideband modulated wave is to be generated by passing a

double sideband suppressed carrier wave through a filter.

Show that the transfer function H(f) of this filter must satisfy the
condition H(f - f)) + H(f + f,) = 2H(f,), where H(f,) is constant.

Assume the message signal to be m(t).

15
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e) T 5(e) # weRia ufgy & @R wrar uwisdt I, I 3R I, % 9F @
<hIfsTe |

1Q 2Q 5Q
AN Ho—e
—>
I \

AN
—
L,

I N R

|

=77 5(e)
Find the values of branch currents I, I, and I, as indicated in the
circuit of Figure 5(e). 10
1Q 2Q 5Q
e AN 05— AN
e —
Ix Ib

wowrA® 4 i

O
-j5Q 20 x—

Icll\

Q6. (a) U foeuud (fewivea) aowo ogT & forw form uitfedfomi & aftoe o
AT GO A v AU AGRT A WA B I § | Ve T A
RIS & 2 ?

Under what conditions do the attenuation constant a and the velocity of

Figure 5(e)

propagation v, for a distortionless transmission line, become
independent of the frequency simultaneously ? Why is it not practical to
have such a transmission line ? 20
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(b)

URC-U-ELTE

(1)

(ii)

fax 6b) # amew gheat i Sremal % @iy wh I=A dLE Sl
wades femmn mn § | 39 TRl g faveww § friw swe (o)
T 9ga s 7 forn T R, afes fer i deear v w2 v,
B | T =t grafieka: sgft £, aen w4 o D % |y =] 3R 9=
fopn ST 2 | wow dUT-Edl H dEEar @ TR g A SR H
frA-frer g e (1;, frgy qan fm Sieear S AV,) +
fore =isres aftwyr greel ot 90 % wet # sma Hifs

I, SRS
o———558EH >
- + Vi, -
b el
v, S/ cI R3V,
1o 6(b)

Figure 6(b) shows a step-up dc-dc converter with ideal devices
and elements. In its steady-state analysis the output filter
capacitor is assumed to be very large to ensure a constant output
voltage v (t) = V. The switch is turned on and off periodically
with a frequency of f, and duty ratio of D. With the help of
neat waveforms, find the expressions for peak-to-peak current
ripple of inductor (I}, peak) and output voltage ripple (AV,) at
steady-state in terms of circuit parameters and variables.

L DiOde
o LLETLN >
A vy — L1
+
Vg Ve cT  REY,
-
Figure 6(b)

f=m 6b) # weitla s=rt ddt.dH. afmds § vy = 12 V,
V,=24V,I, =05 A, L =150 pH, C = 470 uF, 3 f, = 20 kHz 7 |
Frgra-firer fin ateea ST (AV,) 7o SIS St 9/ (S quhe |
i yafea €t B) o Shfepr 1 af-aeaqe (rms) a9 Tiewfera HIfT |
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In a step-up de-de converter shown in Figure 6(b), Vg =12V,
Vo=24V,I =05A, L =150 pH, C = 470 uF, and f, = 20 kHz.
Calculate peak-to-peak output voltage ripple (AV,) and the rms
value of the ripple in diode current (which also flows through the

- capacitor). : 20
(©) T MG JavrT (Tiiq) ey i gl e A9 quid m } |
N Hl(ﬂ
J
B B T4l = 2na
hy kv :
B B f
il —21 £, + TT
=7 6(c)

3 U 5 QR By WY TH FM Hahd

t
s(t) =A, cos 2nf, t +2n k Im(t) dt]
0

! forigford 0 39 T a0 dgTS (TN fERw) F @ FA v

fera < ke @ 2
Shown below is the frequency response of an ideal slope circuit.
(10
J
BT BT slope = 2ma
~f, - £, + = M 7
By Br f
g
Figure 6(c)

How can it be used to demodulate an FM signal
t

s(t)=A,cos 2rnf. t +2n k; jm(t) dt]
0

with a transmission bandwidth By, in combination with an envelope
detector ? 10
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Q7. (a)

(b)

URC-U-ELTE

U 220 V, 50 Hz, 3-%Tl, TRI-GAING &9-Fsft Yo wearafds & 6 y9 & |
24Aaﬁéamwa3§?ﬁw&qamﬁmw(zﬁm)aﬁw
SAG et @ | oy aRww § 270 A Hr iR w9 w3 F R0 0.8 A &
waﬁmmﬁ?ﬁélwaﬁawxdﬁx 1 IIUE 158 | I8 220V
%W-wﬁm@mwmﬁmw%wsafﬁrﬁﬁzmvﬁm
diced St Tawrhar Bt 2 |

()  yEfd grr e A wee we sifemaw wIRE Qe E@TE WR o
1a Hifve |

(i) TAElET % Jeapifers TuTeH § HH 39 B A B AR o
(S g YEM™ fireran wifs F Hif |

. U A 3 Freehiy afiey Wig g

A 220 V, 50 Hz, 3-phase star-connected salient pole alternator has six
poles. With a field current of 2-4 A, it produces rated terminal voltage on
open circuit condition. On short circuit, it requires 0-8 A field current to
produce an armature current of 27-0 A. The alternator has X, to X ratio
of 1-5. It is connected to bus bars of 220 V line-to-line and its exatatlon
required under this condition is 250 V.

@) Find the maximum power that the alternator can deliver and the
corresponding load angle with the excitation remaining
unchanged.

(i)  Also find the maximum power that the alternator can deliver if a
sudden loss of excitation occurs during the synchronised
condition.

Assume linear magnetic circuit.

= fo 7(b)  weRia st Rmiger Awmr w fraw Hift -

FM | faes | - ST _)ﬁrrfrr
Tar [SIES T | TS Gehd
s(t) a(t)
=7 7(b)
19
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(c)

URC-U-ELTE

a5t FRR™ FM &1 s(t) T faee @ed @ ToRdt @ St e oaf £, T
%i‘%ﬂﬁmm-ﬁwmwm% | Fafm FM a1 @ faae A &1
ot e GRUTTE G 0 W A Gy (T feewes) fhn S
2 | 98 o0 §¢ 6
s(t) = A, cos [2n f,t + B sin 2n £,0)] -

sﬂﬁﬁgwssﬁﬁmwﬁsﬁwﬁm,wﬁsﬁga?wa@
A 1 2 ok fioiw @ET g I e T w@iw ot 3 fea afwe
cos (2n £, T) ~ 1 3 sin (2n £,T) ~ 2 £,,T 1 N 2 |

Consider the frequency demodulation scheme shown in Figure 7(b) below :

FM Delay | 5+ Envelope|  Output

wave line 4+ | detector signal

s(t) oft)
Figure 7(b)

Here, the incoming FM wave s(t) is passed through a delay line that
produces a phase shift of % radians at the carrier frequency f,. The

delay line output is subtracted from the incoming FM wave and the
resulting composite wave is then envelope detected. Assuming that

s(t) = A, cos [27n ft + B sin (27 88 9)

analyse the operation of this demodulator when the modulation index
B is less than unity and the delay T produced by the delay line is
sufficiently small to justify the approximation cos @2rn £,T) ~ 1 and

sin 2n £, T) ~ 2 £, T.

mgﬁaa%gq@qmmwaﬁwﬁqq-éamvméaﬁtﬁw
10wégﬁf@tﬁaﬁmﬁa§mﬁﬁﬁ@mmmﬁa%|waﬁ
HaE % qu Y frgd et gehia & % 7 T Y |

fire | Yewt el I ah W au Rig A waw @ wwEfda o ol
guehig &6l % W +ft 9 i )

u AR BB g = 4n x 107 H/m 3R 80=§f15-;><10‘9F/m% |

20
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A uniform plane wave travelling in air is having an electric field of
50 V/m and is normally incident on an infinitely thick slab of dielectric
constant 10. Find the electric and magnetic fields just inside the slab
surface.

Also find the penetrated power inside the slab and the reflected electric
and magnetic fields from the slab surface.

Assume py = 47 x 107 H/m and ¢, = ﬁ x 10-9 F/m. 10

Q8. (a) () 5 p WFUS A H1d, 50 mA AT 4T q=1 40 mA TR (RfRET)
YR I T% SCR & Tk AgsHiies We g fm fen wmar @ ok

= 8(a)() ® wefifa aftay & g e T & |
SCR ! =] (31) 1 & foIu rawaes =[an o st wa IR |
o e
11
20 Q
0 |k
100V —— %51‘9
) 05 H
a7 8(a)(i)

An SCR having a turn ON time of 5 p sec, latching current of
50 mA and holding current of 40 mA is triggered by a short
duration pulse and is used in the circuit shown in Figure 8(a)(i).
Find the minimum pulse width required to turn the SCR ON.

20Q

100V — $5ke
& 0-5H

Figure 8(a)(i)
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(b)
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(ii)

)

TH 3, Seel-EaRE, 6-4d, 50 Hz, 400 V, 925 rpm areft fior
(fEralter o) TR <l IR WX & Jroe Frigam § :

R,=02Q, R. =03Q, X,=05Q, X, =1Q

39 W H 50 Hz @GR % ST 400 V Hit f8R dieear 3 50 Hz %
A fBR V/f U@ o Sieeal dia Sfaee | Wiia (%) T s

2 | ot hif

e 35 Hz rgfti qem qui-wR sA-omeel % 8 wiF W T,

e 600 rpm 1 T qAT TUI-TR <A-3TTET 6 80% WA W G 3R
e 35 Hz 3t A 650 rpm T T FA-3TEON |

= A 7 sfae &3 (fw) § met it vfd — So-3meyt G TR
Heft @i € |

A 3-phase, delta-connected, 6-pole, 50 Hz, 400V, 925 rpm,
squirrel cage induction motor has the following parameters :

R,=02Q, R =03Q, X,=05Q, X, =1Q

The motor is fed from a voltage source inverter with constant V/f
ratio below 50 Hz and constant voltage of 400 V above 50 Hz
frequency. Calculate :

e Speed for the frequency of 35 Hz and half of full-load torque,

e Frequency for a speed of 600 rpm and 80% of full-load torque and

e Torque for a frequency of 35 Hz and speed of 650 rpm.

Assume motor speed — torque curves to be parallel straight lines
in the region of interest.

framamdE (NSweEd) % e § 3 f e F v § fea TR
%1 TR TFea %ol AT BRT, A Q1 wwehiiE fiEwe § @ T
F MR YRRl T e a8 2

o fore mren, wren a1 9M, IREw qun sEeT el faar wad 9
i |
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(ii)

Which type of probability density function is applicable in case of
calculating errors with aiming of missiles/projectiles, if errors in
each of the two rectangular coordinates have independent
Gaussian probability density functions ?

Find its mean, mean square value, variance and its cumulative
distribution function.

mﬁﬁqﬁswzﬁmm?ﬂt@mﬁawmﬁrﬁvﬁmm
T R, ﬁaﬁaﬁﬁaﬁ@(maﬁ)mﬁﬁmﬁm%@ﬁg
WE

%m?ﬁt%ﬁmﬁmmﬁww:rx—maﬁtvmm@

w@%maz%wgm%%squaﬁmmﬁam%ﬁaé,

mﬁﬁq%mﬁmﬁm%meaﬁwma@%m
W E | A T H WA TR R TR 9 e 6
qa-forg @ g (srafq < gft) # Prefim fer w1 v & 2 sE
TREHaT 9ca o fiRay qen wies oM, st o f=em sk B
% G0 T | b 9 A TR i B |

Suppose an archer shoots at a target, 3 m in diameter for which
the bull’s eye is centered on the origin of an XY coordinate system.

The position at which any arrow strikes the target is a random
variable having an X-component and a Y-component. It is
determined that the standard deviation of these components is
1

6

D=

ie. oy =0, =
Assume that the X and Y components of the hit position are
independent Gaussian random variables. What is the type of
random variable that can be assigned to the distance of origin
from the hit position (i.e. the miss distance) ? Write its
probability density function and find the mean value, its
standard deviation and the probability that the target will be
missed completely.
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& 150 KVA, 11 KV/415 V, 50 Hz Th-sel Renfes (FTEH) it firehad
TEa g&dl 50 Hz, 125 KVA, 0-8 lag pf AR W 98-5% & | 3 uifeufa & @
AT G W U B ueh ot WU ¥ | YOE (WOTS) i SeAH
40 Hz FQ W By dreeal o sat 3Aa KVA 3t 3% 9ifth 0% R W
gftonfis < e [E AT |

i i Tionfs 1 e F e @i fRR® x =167 |

A 150 KVA, 11 KV/415 V, 50 Hz single-phase transformer has maximum
possible efficiency of 98-5% at 50 Hz, 125 KVA, 0-8 lag p.f. load. Its
hysteresis and eddy current loss components are also same under this
condition. Find the transformer efficiency at rated KVA and unity power

factor load with its supply frequency changed to 40 Hz at unchanged
input voltage.

Assume Steinmetz constant x = 1-6 for the transformer core.
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